..DID: 4188

..TXT: PSC NO: 87 GAS STATEMENT TYPE: NGV

COMPANY: NEW YORK STATE ELECTRIC & GAS CORPORATION STATEMENT NO: 17

INITIAL EFFECTIVE DATE: 07/01/98

STAMPS:

Cancelled by Statement NGV Number 18 Effective 08/01/1998

RECEIVED: 06/25/98 STATUS: Cancelled EFFECTIVE: 07/01/98

### STATEMENT OF NATURAL GAS VEHICLE RATE

July 1, 1998

#### Owego District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

_	Floor Rate	Market Based Ceiling Rate	Applicable Natural -Gas Vehicle Rate-	
	per per Gal. Therm Equivlnt	. per per Gal.	per per Gal. Therm Equivlnt	
Category 1A	\$0.74039 \$	\$0.844 \$0.95222	\$1.086 \$0.8045	2 \$0.917
Category 1B	\$0.74039 \$	\$0.844 \$1.39053	\$1.586 \$1.1597	9 \$1.322
Category 1C	\$0.74039 \$	\$0.844 \$0.90938	\$1.037 \$0.8126	6 \$0.927
Category 2A	\$0.76073 \$	\$0.867 \$0.95222	\$1.086 \$0.8248	5 \$0.941
Category 2B	\$0.76073 \$	\$0.867 \$1.39053	\$1.586 \$1.1801	3 \$1.346
Category 2C	\$0.76073 \$	\$0.867 \$0.90938	\$1.037 \$0.8330	0 \$0.950
W I T	Н С	O M P R	E S S I	O N :
Category 3A	\$0.61536 \$	\$0.702 \$0.95222	\$1.086 \$0.9145	9 \$1.043
Category 3B	\$0.61536 \$	\$0.702 \$1.39053	\$1.586 \$0.9997	3 \$1.140
Category 3C	\$0.61536 \$	\$0.702 \$0.90938	\$1.037 \$0.9093	8 \$1.037
WITH	OUT	C O M P	R E S S I	O N :
Category 3A	\$0.59502 \$	\$0.678 \$0.95222	\$1.086 \$0.8942	6 \$1.020
Category 3B	\$0.59502 \$	\$0.678 \$1.39053	\$1.586 \$0.9794	0 \$1.117
Category 3C	\$0.59502 \$	\$0.678 \$0.90938	\$1.037 \$0.9093	8 \$1.037
Category 4	\$0.76073	\$0.867 \$0.95222	\$1.086 \$0.8248	5 \$0.941

Issued By: George E. Bonner, Vice President, Binghamton, New York
(Name of Officer, Title, Address)

STATEMENT TYPE: NGV

STATEMENT TYPE: NGV STATEMENT NO: 17

PAGE: 2

### STATEMENT OF NATURAL GAS VEHICLE RATE

July 1, 1998

# Goshen District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

	Floor Rate-		ket Based ling Rate		le Natural icle Rate-	
	per per ( Therm Equiv	Gal. per	per Gal.	per Therm	per Gal. Equivlnt	
Category 1A	\$0.53794	\$0.613	\$0.97064	\$1.107	\$0.82017	\$0.935
Category 1B	\$0.53794	\$0.613	\$1.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.53794	\$0.613	\$0.87975	\$1.003	\$0.78600	\$0.896
Category 2A	\$0.55825	\$0.637	\$0.97064	\$1.107	\$0.84048	\$0.958
Category 2B	\$0.55825	\$0.637	\$1.39053	\$1.586	\$1.18010	\$1.346
Category 2C	\$0.55825	\$0.637	\$0.87975	\$1.003	\$0.80631	\$0.919
W I T	Н	C O M	P R	E S	S I O	n :
Category 3A	\$0.46838	\$0.534	\$0.97064	\$1.107	\$0.80816	\$0.922
Category 3B	\$0.46838	\$0.534	\$1.39053	\$1.586	\$0.99971	\$1.140
Category 3C	\$0.46838	\$0.534	\$0.87975	\$1.003	\$0.87975	\$1.003
W I T H	O U T	С	O M P	R E	S S I O	N :
Category 3A	\$0.44807	\$0.511	\$0.97064	\$1.107	\$0.78785	\$0.898
Category 3B	\$0.44807	\$0.511	\$1.39053	\$1.586	\$0.97940	\$1.117
Category 3C	\$0.44807	\$0.511	\$0.87975	\$1.003	\$0.87975	\$1.003
Category 4	\$0.55825	\$0.637	\$0.97064	\$1.107	\$0.84048	\$0.958

Issued By: <u>George E. Bonner, Vice President, Binghamton, New York</u>
(Name of Officer, Title, Address)

STATEMENT TYPE: NGV

STATEMENT NO: 17

PAGE: 3

### STATEMENT OF NATURAL GAS VEHICLE RATE

July 1, 1998

### Lockport District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

-	Floor Rate		Based		e Natural cle Rate-	
	per per ( Therm Equiv	Gal. per	per Gal. Equivlnt	per Therm	per Gal. Equivlnt	
Category 1A	\$0.78904		.00486	\$1.146	\$0.84926	\$0.968
Category 1B	\$0.78904	\$0.900 \$1	.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.78904	\$0.900 \$0	.86494	\$0.986	\$0.78904	\$0.900
Category 2A	\$0.80916	\$0.923 \$1	.00486	\$1.146	\$0.86938	\$0.991
Category 2B	\$0.80916	\$0.923 \$1	.39053	\$1.586	\$1.17991	\$1.345
Category 2C	\$0.80916	\$0.923 \$0	.86494	\$0.986	\$0.80916	\$0.923
W I T	Н	C O M	P R	E S	S I O	N :
Category 3A	\$0.60589	\$0.691 \$1	.00486	\$1.146	\$0.90362	\$1.030
Category 3B	\$0.60589	\$0.691 \$1	.39053	\$1.586	\$0.99952	\$1.140
Category 3C	\$0.60589	\$0.691 \$0	.86494	\$0.986	\$0.86494	\$0.986
W I T H	O U T	C O	M P	R E	S S I O	N :
Category 3A	\$0.58577	\$0.668 \$1	.00486	\$1.146	\$0.88350	\$1.007
Category 3B	\$0.58577	\$0.668 \$1	39053	\$1.586	\$0.97940	\$1.117
Category 3C	\$0.58577	\$0.668 \$0	.86494	\$0.986	\$0.86494	\$0.986
Catagory 4	\$0.80916	<b>ბი ი</b> ეე ტე	1.00486	ė1 1 <i>16</i>	\$0.86938	\$0.991
Category 4	\$0.00310	\$0.923 \$1	1.00400	\$1.146	٥٥٤٥٥. ٥٥	٦٤.94

Status: CANCELLED Effective Date: 07/01/1998 Received: 06/25/1998

STATEMENT TYPE: NGV

STATEMENT NO: 17
PAGE: 4

### STATEMENT OF NATURAL GAS VEHICLE RATE

July 1, 1998

# Elmira District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

-	Floor Rate-		et Based ing Rate		e Natural cle Rate-	
	per per C Therm Equiv		per Gal. Equivlnt	per Therm	per Gal. Equivlnt	
Category 1A	\$0.80292	\$0.916	\$0.94345	\$1.076	\$0.80292	\$0.916
Category 1B	\$0.80292	\$0.916	\$1.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.80292	\$0.916	\$0.83531	\$0.952	\$0.80292	\$0.916
Category 2A	\$0.82304	\$0.938	\$0.94345	\$1.076	\$0.82304	\$0.938
Category 2B	\$0.82304		\$1.39053	\$1.586	\$1.17991	\$1.345
Category 2C	\$0.82304		\$0.83531	\$0.952	\$0.82304	\$0.938
5 1						
W I T	H	C O M	P R	E S	S I O	и :
Category 3A	\$0.60453	\$0.689	\$0.94345	\$1.076	\$0.91772	\$1.046
Category 3B	\$0.60453	\$0.689	\$1.39053	\$1.586	\$0.99952	\$1.140
Category 3C	\$0.60453	\$0.689	\$0.83531	\$0.952	\$0.83531	\$0.952
W I T H	О И Т	С	O M P	R E	S S I O	и :
Category 3A	\$0.58441	\$0.666	\$0.94345	\$1.076	\$0.89759	\$1.023
Category 3B	\$0.58441	\$0.666	\$1.39053	\$1.586	\$0.97940	\$1.117
Category 3C	\$0.58441	\$0.666	\$0.83531	\$0.952	\$0.83531	\$0.952
Category 4	\$0.82304	\$0.938	\$0.94345	\$1.076	\$0.82304	\$0.938

Issued By: George E. Bonner, Vice President, Binghamton, New York (Name of Officer, Title, Address)

STATEMENT TYPE: NGV

STATEMENT NO: 17

PAGE: 5

### STATEMENT OF NATURAL GAS VEHICLE RATE

July 1, 1998

### Combined District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

-	Floor Rate-	Market Based		ole Natural sicle Rate-	
	per per C Therm Equiv			per Gal. Equivlnt	
Category 1A	\$0.80292	\$0.916 \$0.98731	\$1.126	\$0.83434	\$0.951
Category 1B	\$0.80292	\$0.916 \$1.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.80292	\$0.916 \$0.87975	\$1.003	\$0.80292	\$0.916
Category 2A	\$0.82304	\$0.938 \$0.98731	\$1.126	\$0.85447	\$0.974
Category 2B	\$0.82304	\$0.938 \$1.39053		\$1.17991	\$1.345
Category 2C	\$0.82304	\$0.938 \$0.87975	\$1.003	\$0.82304	\$0.938
W T III	Н	C O M P :	R E S	S I O	NT .
W I T	н	C O M P	R E S	S I O	и :
Category 3A	\$0.60453	\$0.689 \$0.98731	\$1.126	\$0.90560	\$1.033
Category 3B	\$0.60453	\$0.689 \$1.39053	\$1.586	\$0.92219	\$1.052
Category 3C	\$0.60453	\$0.689 \$0.87975	\$1.003	\$0.87975	\$1.003
W I T H	O U T	C O M	P R E	S S I O	N :
Category 3A	\$0.58441	\$0.666 \$0.98731	\$1.126	\$0.88548	\$1.010
Category 3B	\$0.58441	\$0.666 \$1.39053	\$1.586	\$0.90207	\$1.029
Category 3C	\$0.58441	\$0.666 \$0.87975	\$1.003	\$0.87975	\$1.003
Category 4	\$0.82304	\$0.938 \$0.98731	\$1.126	\$0.85447	\$0.974

Issued By: <u>George E. Bonner, Vice President, Binghamton, New York</u>
(Name of Officer, Title, Address)

STATEMENT TYPE: NGV

STATEMENT NO: 17

PAGE: 6

### STATEMENT OF NATURAL GAS VEHICLE RATE

July 1, 1998

# Champlain District

The monthly rate, per therm, for sales used in the refueling of Natural Gas Vehicles shall be as stated herein in accordance with Service Classification 4 of PSC No. 87.

_	Floor Rate-		ket Based ling Rate		le Natural icle Rate-	
	per per ( Therm Equiv	Gal. per	per Gal.	per Therm	per Gal. Equivlnt	
Category 1A	\$0.60499	\$0.690	\$0.97064	\$1.107	\$0.82017	\$0.935
Category 1B	\$0.60499	\$0.690	\$1.39053	\$1.586	\$1.15979	\$1.322
Category 1C	\$0.60499	\$0.690	\$0.87975	\$1.003	\$0.78600	\$0.896
Category 2A	\$0.62511	\$0.713	\$0.97064	\$1.107	\$0.84029	\$0.958
Category 2B	\$0.62511	\$0.713	\$1.39053	\$1.586	\$1.17991	\$1.345
Category 2C	\$0.62511	\$0.713	\$0.87975	\$1.003	\$0.80612	\$0.919
W I T	Н	C O M	P R	E S	S I O	N :
Category 3A	\$0.43624	\$0.497	\$0.97064	\$1.107	\$0.94257	\$1.075
Category 3B	\$0.43624	\$0.497	\$1.39053	\$1.586	\$0.99952	\$1.140
Category 3C	\$0.43624	\$0.497	\$0.87975	\$1.003	\$0.87975	\$1.003
WITH	O U T	С	O M P	R E	S S I O	и :
,, 1 1 11	0 0 1	C	0 11 1	1. 1		1
Category 3A	\$0.41612	\$0.474	\$0.97064	\$1.107	\$0.92245	\$1.052
Category 3B	\$0.41612	\$0.474	\$1.39053	\$1.586	\$0.97940	\$1.117
Category 3C	\$0.41612	\$0.474	\$0.87975	\$1.003	\$0.87975	\$1.003
Category 4	\$0.62511	\$0.713	\$0.97064	\$1.107	\$0.84029	\$0.958

Issued By: <u>George E. Bonner, Vice President, Binghamton, New York</u>
(Name of Officer, Title, Address)